SM 1274-10

9

v'RoHs
Konform
Compliant

466

Haltestuck fir Rastriegel / Rastbolzen

Mounting block

for indexing plungers / cam action indexing plungers

Bohrung fiir
Zylinderschraube
DIN 912

bore for socket

] cap screw with
% DIN 912
/L + s {

Gewindestift mit
MS-Zapfen SM 1239-1
grub screw with

brass pad SM 1239-1

* <
I
| A -~
ST el |
P e b e
b le—— b —
Form A
| Catalog No.| Form| d, K
SM 127410 B M16X1.5 J‘ |~d4 ‘
Zink-Druckguss, I = ™
kunststoffbeschichtet SZE R~
schwarz, strukturmatt ' f
zinc die casting, Form B
plastic coated
black, textured finish
Form A: Montage von hinten
Form B: Montage von vorn
Form A: mounting from the back
Form B: mounting from the front
Haltestlicke sind Montagehilfen fiir
Rastriegel, Rastbolzen, Anschlag-
puffer und -schrauben und erwei-
tern deren Anwendungsbereich. Rastbolzen
AuRerdem kénnen sie Positionier- indexing plunger
buchsen SM 1273-56 aufnehmen
zur Positionierung des Raststiftes
eines Rastbolzens oder Rastrie-
gels.
Mounting blocks / retaining pieces o
are mounting aid for indexing Positionierbuchse
plungers, indexing plungers, stop Positioning bushing
buffers and stop screws and extend SM 1273-56 —
their range of application.
They can also accommodate
positioning bushes SM 1273-56 —~_
for positioning the indexing pin of N >|
an indexing plunger or indexing //
plunger.
mm
Haltestlcke
- mounting blocks
T SM 1274-10
Rastriegel
cam action indexing plunger
\S) \S) )
d, b d, d, d, d, h k I, l, s t, t, kg
%) %) %) %) %) min. | FormA | Form B
M08 35 4,3 M4 8,2 M5 26 25 6 14 12 2 10 0,048 | 0,039
M08 x 1,0 | 35 4,3 M4 8,2 M5 26 25 6 14 12 2 10 0,048 | 0,040
M10 35 4,3 M4 10,2 M5 26 25 6 14 12 2 10 0,046 | 0,038
M10x 1,0 | 35 4,3 M4 10,2 M5 26 25 6 14 12 2 10 0,046 | 0,039
M12 35 4,3 M4 12,2 M5 26 25 6 14 12 3 12 0,044 | 0,035
M12x1,5 | 35 4,3 M4 12,2 M5 26 25 6 14 12 3 12 0,044 | 0,037
M16 47 5,3 M5 16,2 M6 34 35 10 18 14 3 12 0,070 | 0,076
M16x 1,5 | 47 5,3 M5 16,2 M6 34 35 10 18 14 3 12 0,070 | 0,078
M20x 1,5 | 47 5,3 M5 | 20,2 M6 34 35 10 18 14 3 12 0,079 | 0,068

+49 40 797002 0 | www.scholz-mechanik.de | service@scholz-mechanik.de

A



